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1. The Institute which primarily plans and
monitors teacher education

(1) NCERT 42) NCTE
(3) SIET (4) CIET

2. One of the following is NOT a financial
record :
(1) Acquittance Roll
(2) Cash Book
(3) Stationery Register
<(4) Trunk-call Register

3. In maintaining school records and
registers care should be taken
(1) To keep the book neat by tearing
off papers with mistakes.
To provide provision to number
cach page with pencil.
Provision for inserting blank sheets.
To clearly mention the opening and
closing date of the volume.

(2)

(3)
' (4)

4. Inclusive Education is provided for
(1) only blind children.
(2) children with mental retardation.
_(3) all type of children irrespective of
their mental and physical or social
status. ;
children with hearing impairment.

(4)

One of the following was advocated in
inclusive education
(1) Salmanca statement
(2) Saroson
A3) Dorris
(4) Benda

th

6. Under his chairmanship, the committee
proposed 11  areas related  to
environmental education for development
of competencies in students
(1) Dr.D.S. Kothari
(2) R.H. Dave
(3) Ishwarbhai Patel
(4) Dr. Lakshman Swamy Modiliar

7. Bringing down the restrictions and
giving equal opportunities to production
in government and private sector is
called
(1) Liberalization (2) Privatisation
(3) Globalisation (4) Generalisation
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8.  This Article in the Constitution provides
scope for free and compulsory
education.

1) Article 21A
(3) Article 21 (4) Article 28

9. Examine the following statements
related to provision teachers under RTE
2009.

A. If 61-90 students are there, four
teachers for 1-5 classes

(2) Article 45

B. If the number of students for 1-5
class exceed 200, the teacher pupil
ratio is 1 ; 40 excluding Head Master

C. If 91-120 students are there for
1-5 classes. five teachers.

D. If 121-150 students are there for

1-5 classes, five teachers.
The correct statements are:
(1) AandConly (2) AandD only
«3) B,Cand D only (4) C and D only

According to RTE minimum working
days for 6-8 classes is

(1) 200 (2) 210

»(3) 220 (4) 180

National Commission for protection of
Child rights was established in this year
(1) December, 2005 (2) March, 2006 *
(3) December, 2007 (4) March, 2007

Examine the following statements.
A. Children with special needs means
handicapped only. This is only a
misapprehension.
If children with special needs are
there in regular schools. the time
that the teacher needs for brighter
students gets minimised and
standard gets deteriorated.
Disability is not a infectious disease
Disability is the result of fate and
evil actions of previous life.

The correct statements are :

(1) A,BandC only

(2) Band C only

(3) A and C only
v(4) A and B only

10.

HL.

‘2.

C.
D.

13. The first residential school was
established in Andhra Pradesh in the
year
(1) 1969-70 (2) 1971-72
(3) 1972-73 (4) 1973-74
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14.

16.

55

18,

19.

20.

(3) Lewis Carrol

Examine the following pairs :
A. RMSA - Access to schooling
- for children with

age group of 6-14

B. SSA - Establishment of
secondary  schools
within the radius of
6 kms

C. NPEGEL - 6-14 years girls for
improving
enrolment and
retention

D. Success - 6-10 classes with

schools English medium

Choose the correct option :
(I) Cand D only (2) A.C and D only
(3) BandConly (4) BandD only

NCF 2005 gave importance to
(1) Maths (2) Social studies
(3) Science (4) Language

_The poem *Adonais’ is an elegy on the

death of :
(1) S.T. Coleridge (2) John Keats
(3) P.B.Shelley

Who. among the following four writers,
is the author of *Alice’s Adventures in
Wonderland® ?

(1) Thomas Addison (2) John Dryden
(4) Ben Johnson

‘Chronicle Plays were dramatic
renderings  of the in the
English Chronicles.

(1) historical materials

(2) cultural materials

(3) social materials

(4) literary materials

Which of the following four works is
not a satire ?

(1) Absalom and Achitophel

(2) Gulliver’s Travels

(3) Spectator

(4) In Memoriam

The attribution of human capacities and
feelings to natural objects is known as

(1) Pathetic fallacy
(2) Intentional fallacy
(3) Poetic diction

(4) Affective fallacy

Series-A

(4) Alfred Tennyson 24,

21.

22.

23.

26.

27.

‘Dramatic Lyrics’ is a collection of
poems by -
(1) Alfred Tennysor
(2) William Wordsworth
(3) Robert Browning
{4) Mathew Arnold
criticism approaches the
work as something which stands free
from the poet and audience.
(1) Impressionistic criticism
(2) Judicial criticism
(3) Pragmatic criticism
(4) Objective criticism

Who, among the following four writers,
wrote the following lines ?
‘My heart aches. and a
numbness pains

My sense, as though of hemlock I had
drunk,’

(1) John Keats

(2) William Wordsworth

(3) William Shakespeare

(4) S.T. Coleridge

___ were associated with the
court and were composers of witty.and
polished lyrics of gallantry.

(1) Romantic poets

(2) Victorian poets

(3) Cavalier poets

(4) Elizabethan poets

drowsy

_is the first fully developed
autobiography.
(1) Confessions of St. Augustine
(2) The Prelude
(3) Grace Abounding to the Chief of
Sinners
(4) My Experiments with Truth

Who, among the following four writers,
is the originator of the pastoral poetry ?
(1) WW.Gregg (2) Frank Kermode
(3) Theocritus (4) William Empson

‘Pre-Raphaclite  Brotherhood’
organized by
(1) D.G.Rossetti, William Holman

Hunt, and John Millais

was

(2) D.G.Rossetti, Jon Millais, and
Herbert

(3) John Donne, Herbert and Cowley

(4) John Millais, T.S.Eliot, and

D.G.Rossetti
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28.

29.

32.

34.

‘»
N
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Which of the following four is a prose
work of John Milton ?

(1) Paradise Regained

(2) Lycidas

(3) Camus

(4) Arcopagitica

The term *Metaphysical’ was given by

(1) Dr. Johnson
(2) John Donne
(3) Sir Philip Sidney
(4) Mathew Arnold

Who. among the following four writers,
is not 2 Metaphysical Poet ?

(1) John Donne (2) Herbert

(3) Cowley (4) Dryden

Who. among the following four writers,
is the author of the literary work “The
Vicar of Wakefield' ?

(1) Oliver Goldsmith

(2) Alexander Pope

(3) Thomas Gray

(4) William Cowper

A Sonnet generally has

(1) two stanzas of ten lines each
(2) two parts and fourteen lines
(3) three stanzas and twelve lines
(4) four parts and fourteen lines

Who. among the following four writers,
says that ‘a well-written life is almost as
rarc as a well-spent one’ ?

(1) Carlyle (2) Dryden

(3) Alexander Pope (4) Boswell

Which of the following four statements
is right ?

(1) In English one letter of the alphabet
stands for more than one sound.

In English one letter of the alphabet
stands for one sound.

In English one letter of the alphabet
does not stand for any sound.

[n English many letters stand for
one sound.

(4)

prices of  essential
commodities make the lives of poor
people miserable.
(1) Souring
(3) Soring

(2) Soaring
(4) Scoring.

36.

37.

38.

-(4)

40.

41.

42.

43.

to an overburdened worker is not
a healthy practice.
(1) Assigning additional work
(2) Assign additional work
(3) Having assigned additional work
(4) To assigning additional work

Moving from one place to another place
frequently :

(1) do not help us to succeed in any
field.

does not help us to succeed in any
field.

did not helped us to succeed in any
field.

are not helping us to succeed in any
field.

Smoking and drinking in public places
to avoid nuisance.

(1) is prohibit (2) are prohibited

(3) have prohibited (4) has prohibited

(4

In an attempt to save the dog on the
road !

(1) the driver has applied brakes
suddenly
the driver
suddenly
the driver had applied the brakes
suddenly /
the driver
suddenly

applied the brakes

applies the brakes

What have you been searching
since morning ?

(1) from (2) with
(3) for (4) off
A on who leads a simple, austere

life. avoiding luxury is known as

(1) altruist
(3) conservative

(2) aesthete
(4) ascetic

Our carelessness and laziness will result
in any project.

(1) for failure (2) in failure

(3) from failure  (4) with failure

were amputated by the doctors
as there was no other alternative.
(1) Bothhislegs (2) His both legs
(3) His legsboth (4) Both legs his
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44. You will get best, if there is
element of spark in your idea.

(1) a.,the (2) an. the

(3) the,a (4) the, an

45. Which of the following four sentences
is grammatically right ?

(1) Vishwanadhan Anand plays chess
more skillfully than any other
player.

No other player plays chess as most
skillfully as Vishwanadhan Anand.
Very few players play chess more
skillfully as Vishwanadhan Anand.
Vishwanadhan Anand plays chess
most skillfully as one of the
players.

46. Which of the following four options is
the appropriate Reported Speech of the
given one ?

The doctor told a woman, “Are you doing
the domestic work on your own 7"

(1) The doctor asked a woman that she
was doing the domestic work on
her own.

The doctor asked a woman whether
was she doing the domestic work
on her own.

The doctor asked a woman whether
she was doing the domestic work
on her own.

The doctor asked a woman that was
she doing the domestic work on her
own. -

(2)
3)

(4)

47. Which of the following four options is
the appropriate Passive Voice of the
given sentence ?

Did they invite and involve all the

delegates in the discussion ?

(1) Are all the delegates invited and
involved in the discussion ?

Were all the delegates invited and

involved in the discussion ?

Have all the delegates been invited

and involved in the discussion ?

Were all the delegates being invited

and involved in the discussion ?

48. it was proved that he was
guilty.

(1) Inenquiring (2) For enquiring
(3) On enquiring (4) From enquiring
Series-A '

49, the failure of crop due to
cyclone, there is a rise in the price of
rice.

(1) Consequent upon
(2) In order to

(3) In spite of

(4) On behalf of

Directions : Questions 50 and 51 are based
on the following passage.

Happiness, after all, i1s an inner state of
mind. It is little dependent on outside
environment. Happiness has very little to do,
for instance. with whether you are rich or not .
rich. Some of the most miserable persons, I
have come across in my life are the rich
people. It is true that poverty makes one
miserable in a very acute way. But my point
is that it is not wealth but co-ordination of
one’s thought and action which removes inner
conflicts. It is in that way that integration of
personality is achieved.

50. According to the author, happiness

(1) depends on
environment

(2) 1is an inner state of mind

(3) depends on your wealth and co-

«(4)

ordination
is related to inner contlicts.
51. The author advises us P
(1) to make thoughts and actions work
together.
(2) to develop the art of observing
outside environment.
(3) not to bother about personality.
. (4) to integrate wealth and poverty.
52. The number of rational numbers
between 1 to 100 is
(1) 100 () 99

(3) 101 ¢ (4) infinite

If the difference between two positive
integers is 25 and the quotient when one
integer is divided by other is 6, then the
sum of the numbers is

M 30 A2) 35

3) 25 (4) 40

If a gardener wishes to plant 6565
plants in the form of a square and found
that there were 4 plants left, the number
of plants planted in each row is

(1) 81 (2) 83

3) 79 4) 77

the outside

53.
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60.

61.

62.

63.

17532

If the mean of a set of observations x,

Xy -en ¥y 18 20, then the mean of x| + 4,

Xyt 8, xyt 1270 X0 ™ 40 1s

(1) 38 (2) 40

(3) 42 (4) 44

The arca of a circle inscribed in a
square of side 42 cm is

sq. cm.

(1) 1370 (2) 1386

(3) 1280 (4) 1296

If cach edge of a cube is doubled. then
its surface area increase ____ times.

(1) 2 . @4

(3) 6 (4) 5

The sum of integers which are divisible
by 7 from 50 to 100 is

(1) 644 (2) 630

(3) 720 (4) 680

How many triangles are there whose

lengths of two sides are 6 cm and 9 cm
(lengths of sides of a triangle

are integers)

(1) 12 (2) 13

(3) 11 @) 10

An article is sold at T 495 after allowing
a reduction of 10% on its original price.
What is the original price ”

(1) 625 (2) TS75

(3) 550 *(4) T445.50

Yadaiah borrowed ¥ 5120 at 12.5% per
annum compounded annually. How
much he has to pay to clear the debt at
the end of two years six months ?

(1) T6.885 (2) ¥7,087.50

(3) 6,480 (4) ¥6,520.50

If the angles of a quadrilateral are
X2, (x — 10)°, (x + 30)° and 2x°, then the
largest angle in the quadrilateral is
(in degrees)

(1) 136 (2) 68

(3) 84 (4) 120

In a parallelogram the base and height
are in the ratio 4 : 5. If the area of the
parallelogram is 720 m?, then its base is
(in m.)
(1) 30
(3) 20

@) 24
4) 36

64. A road roller makes 200 rotations in
covering 2200 m, then the radius of the
roller is (in m.)

(1) 0.2 72) 175
(3) 1.85 (4) 1.65

65. The number of axes of symmetry in
regular hexagon is
(1) 6 () 5
3) 4 (4) 3

66. The difference between the greatest and
smallest 5 digit number formed by the
digits 6,2, 0,3 and 8 is

~(1)’ 65952 (2) 64952
(3) 64852 (4) 65852

67. The H.C.F. of any two consecutive even

integers 1s
A 1 2).2
(3) 3 4) 4

68. A wire of 250 ¢m long is used to form
a regular pentagon, then the length of
each side is (cm) .

(1) 50 (2) 40
(3) 60 (4) 25

69. The income and savings of an employee
are in the ratio 11 : 2. If his expenditure is
Z 5,340, then his income is
(1) T 3456 (2) T5634

A3) T 6534 (4) T 4653
70. Match the following :
List- 1 List - 11
A. Earthworm 1. destroys the eggs
: of insects
B. Spider 2. eats rats
C. Snake 3. protects  crops
from insects by
eating them
when stuck in
web.

D. Tykrograma 4. iImproves fertility
of soil

Choose the correct option :
. (1) A4, B3, C-2, D-1

(2) A-4, B-3, C-1, D-2

(3) A-3, B4, C-1, D-2

(4) A-2, B-3, C-4, D-1
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71. ldentify the WRONG statement.

(1) Tap root contain main root and
lateral roots

(2) Fibrous root contain all similar
roots without main root

(3) In dicotyledons fibrous roots are
present

(4) Roots help in absorption of water

72. Arrange the following from top to
bottom

A. Clavicle

C. Thigh bone
Choose the correct option:

(1) A,B.C,D - +(2) A.B,D,.C
(3) B.D.C, A 4) D.C.A.B

B. Ribs
D. Pelvic girdle

73. Identify the WRONG statement from
the following :

(1)

Silk moths selling centres are called
Grinages

(2)
(3)
« (D)

The larva of silk moth is caterpillar
Bigger worms are kept in bottles

The net woven around caterpillar is
called cocoon

74. Match the following :

List - 1 List - 11

A. Parasitic plant 1. Symbiosis
B. Plants that 2. Utricularia

grow on dead

& decaying

matter
C. Plant that 3. Saprophytes

grows in

Nitrogen

deficient area
D. Leguminacae 4. Cuscuata

family
Choose the correct option :
(1) A-1, B-2, C-3, D-4
@) A-4, B-2, C-1, D-3
J(3) A-4, B-3, C-1, D-2.
(4) A-4, B-3, C-2, D-1
Series-A

75. Consider the following statements
related to flower of Datura and state
which of them are correct ?

A. The seat on which the parts of

flower are present is called
thalamus

B. Third whorl of a flower is called
corolla.

C. Thin leaf like structures present
towards petals are called sepals
D. Funnel shaped structure formed of
fused petals is called calyx
Choose the correct option:
(1) Aand Bonly (2) B and C only
+(3) Aand C only (4) B and D only

76. The nature of non-metal oxide is
(1) Acidic (2) Basic
(3) Neutral (4) Dual nature

77.  Which of the following is a fossil fuel ?

A. Coal B. Petroleum
C. Petrol D. Natural gas
Choose the correct option:

(1) Aonly (2) A and B only

«(3) A,BandConly (4) A,BandD only

78. Which of the following method is used
to remove impurities from water ?
(1) Crystallization (2) Distillation
(3) Sedimentation (4) Sublimation

79. Which of the following is generally
called as "milk of magnesia" ?
(1) Calcium hydroxide
(2) Manganese hydroxide
(3) Mercury hydroxide
(4) Magnesium hydroxide

80. Match the following :

List-1 List - 11
A. Tartaric acid 1. Tomato
B. Tannicacid 2. Tea
C. Oxalicacid 3. Urine
D. Uric acid 4. Tamarind

Choose the correct option :
(1) A-1, B-2, C-3, D4
(2) A-4, B-3, C-2, D-1
(3) A-4, B-2, C-1, D-3
.(4) A-1, B-2, C4, D-3-

81. Which of the following gas occupied &)

1/5th percentage in the atmosphere ? ﬁ;’”
(1) Oxygen (2) Nitrogen \.,,-T
(3) Helium (4) Carbon dioxide /:Z_)

8 175327
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82. The lenses used to correct the eye defect

‘presbyopia’ are .

(1) bi-focal lenses of combination of
two concave lenses

(2) Bi-focal lenses of combination of
two convex lenses

(3) Bi-focal lenses of combination of
concave and convex lenses

(4) Any combination of convex and
concave lenses

83. The heat energy required to change the
state of water from liquid to vapour
(gas) is called
(1) Specific heat of water
(2) Latent heat of vapourization
(3) Heat capacity of water
(4) Molar specific heat of

vapourization

84. If the kinetic encrgy of a ball of 250 g
mass is 0.02 I, the ball moves with a

velocity of
(1) 10 cm/s (2) 20 cm/s
(3) 30cm/s (4) 40 cm/s

85. Pitchisa characteristic of sound waves
which directly depends on
) Wavelength (2) Amplitude
(3) Frequency (4) Velocity

86. Which of the following is the lens
maker’s formula ?

L ol g e
M f-D " (R, R,
1 ], el
(2) f(n-l)z(R| R }
| § el
() o) (R, 2 Rz)
1 o]
@ T~ )
87. When a number of resistors are
connected in a series to a battery (in an
electrical circuit) the physical quantity

that remains constant across all the
resistors 1S

(1) Potential difference
(2) Electric current
(3) Electric energy
(4) Electric power
17532 :

88.

89.

90.

91.

92.

93.

Consider the following statements:

A. Gram Panchayat do many works like
maintaining the street lights etc.

B. At present, post offices are
providing the telegraph  services
along with other sery ices.

C. The bank gives loans to the -
villagers for their daily enjoyment.

D. The schools provide education -
irrespective of caste and income.

Choose the incorrect statements:

(1) Aand B only (2) B and C only

.(3) A.CandD only(4) A.B, Cand D

‘AKIPEN’ is the village Goddess of the
following tribe:

(1) Gonds (2) Chenchus

(3) Konda Reddies (4) Koyas

Consider the following pairs :

Tribe District

A. Chenchus - Adilabad

B. Gonds- Nagarkurnool

C. Bondas - Visakhapatnam

D. Kondareddies - Bhadradri
Kothagudem

Choose the correctly matched pairs :
(1) Aand Bonly (2) € and D only =
(3) A,Cand Donly(4) A.B, Cand D

Where was the first dam built across the
river Godavari ?

(1) Gangapur (2) Pochampadu
(3) Jayakwadi (4) Inchampally
Arrange the layers from nearest to the
earth’s surface :

A. Exosphere B. Troposphere
C. Mesosphere  D. Thermosphere
E. Stratosphere

Choose the correct order

(1) A,E.D.B.C 12 B.E,C.D,A
(3) C.E.D,B.A (4) E,A,C,B,D

Consider the following statements:

A. The nine planets while rotating round
themselves revolve round the sun.

B. Days and nights are occurred due to
the rotation of the earth.

C. The earth not only rotates around
itself, but also revolves round the
sun which is called ‘rotation’.

D. The moon revolves in a fixed
circular orbit round the earth.

Choose the correct statements

(1) A.BandD only(2) BandC only

(3) Band D only (4 A.B. Cand D

Series-A



94.

95.

96.

97

98.

Where did the most severe carthquakes
occur in India ?

A. Bhuj in Gujarat

B. Srinagar in Kashmir

C. Lathur in Maharashtra

D. Madurai in Tamilnadu

Choose the correct answer:

(1) Aand Conly (2) A.C and D only
(3) B.Cand Donly (4) A,B. Cand D

How many languages are recognised by
our Constitution ?
(1) 18
3) 17

(2) 22
(4) 20

Arrange the following oceans from
largest to smallest:
A. Indian ocean
C. Arctic ocean

E. Antarctic ocean
Choose the correct order:

(1) B,E,A.C.D (2) D,A,B,E.C
(3) B.D,AE.C (4) A,D, C,B.E

B.' Pacific ocean
D. Atlantic ocean

Consider the following statements:

A. All the members of the Constituent
Assembly signed the Constitution
on 29" November, 1949.

B. Preserving the rich heritage of the
nation’s composite culture is a
fundamental duty.

C. Safeguarding public property and
abjuring  violence is another
fundamental duty.

D. Freedom of visiting places
anywhere in India with prior
permission is a fundamental right.

Choose the correct statements @

(1) AandBonly (2) BandC only

(3) A.BandConly (4) A.B,CandD

Consider the following pairs :

Monument Built by

A. Gadwal fort Somanadri -

B. Golconda fort Qutbuddin

Aybak

Prathaprudra
Sir Viquar-Ul-
Umra
Which pairs are correctly matched ?
(1) Aand Conly (2) BandD only
(3) A,CandDonly (4) A,B,CandD

C. Medak gila
D. Falaknuma

Series-A

99.

10

100.

101.

102.

Who conducted excavations near river
Indus in 1921-22 7

(1) Sir John Marshall

(2) Dayaram Sahint

(3) Vincent Smith

(4) Max Miller

Match the following :
A. Alvars 1. Devotees of Shiva
B. Nayanars 2. Thirthankaras
“ C. Buddhism 3. Devotees of
Vishnu
D. Jainism 4. Jataka

5. Ashramas
Choose the correct option/pairs :
(1) A-l. B-2, C-4, D-3
(2) A-2, B-1, C-5; D4
(3) A-3. B-k C-4, D-2
(4) A-3, B4, C-1, D-5

Arrange the following in chronological

order :

A. Chandra Gupta I

B. Skanda Gupta -

C. Chandra Gupta 1-

D. Kumar Gupta .

E. Samudra Gupta -

Choose the correct order :

(1) A,B.C.D,E (2) B.C,A,D.E
CB

(3) C.E.A,D.B (4) D.A.B,
Match the following :
List -1 List - 11
A. Al-ldrisi 1. Prepared detailed
maps of the world
using  longitudes,
latitudes
B. James 2. The father of Dutch
Rennel cartography
C. Gerardus 3. Prepared one of the
Mercator first survey based
maps in India
D. Ptolemy 4. Prepared a world
map showing
Eurasian continent
fully
5. Prepared world

maps by arranging
places from East to
west
Choose the correct option/pairs :
(1) A-1, B-2, C-3, D-4
1, C- -4
3, C-
1, C-

B-
B-
B-
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103. Consider the following pairs:

A. Gusadi ' - Odisha
B. Sadir Natyam - Tamil Nadu
C. Kuchipudi - Andhra Pradesh

D. Chuttukamudu - Telangana
Choose the correct matched pairs:
(1) Aand Bonly (2) A, B and C only
(3) A.Cand D only(4) B. C and D only

104. Which of the following rivers do not
flow from Andhra Pradesh and
Telangana ?

(1) Godavari (2) Krishna

(3) Thungabhadra (4) Kaveri

Who could be members of Chola Sabha ?
A. They should have their own house
B. They should be between 20 and 40
years of age

They should be a member of any
committee in the last three years
They should have the knowledge of
Vedas

Choose the correct statements -
(1) Aand Bonly (2) B and C only
(3) AandDonly (4) B and D only

The morphological features of English

are .

(1) similar to Indian languages

(2) different from those of Indian
languages.

(3) different from any language.

(4) contrary to some Indian languages

the

105.

€

D.

106.

107. The learning of English at

elementary stage should be

(1) natural, conscious and voluntary

(2) unnatural, unconscious and
involuntary

(3) natural, unconscious and involuntary

(4) unnatural, unconscious and voluntary

108. A discourse is a mode of

(1) prescribing certain ideas
meaningfully in a general situation

(2) communicating certain  ideas
meaningfully a particular
situation

(3) communicating certain  ideas
meaningfully in regular situations

(4) Somehow communicating a few
ideas in a specific situation

in

109. Which of the following four statements
is most appropriate ?
(1) Teachers can teach anything unless
they are given an opportunity.
(2) Teachers’ help can create a desire
to learn in a student.
(3) Teachers’ help can create learning
in a student for desire.
(4) Teachers’ help can
atmosphere for desire.

N

create an

110. According to . a method of
teaching determines what and how
much is to be taught and the order in
which it is taught.
(1) W.F. Mackey

(3) Macaulay

(2) Edward Anthony
(4) John B.Watson

Which of the following four statements

is correct ?

(1) Syllabus is a part of curriculum.

(2) Syllabus is partially a part of
curriculum for some teachers.

(3) Curriculum and syllabus are the

4)

111

same with different titles.
Syllabus is not at all related to
curriculum.

112. An expository text exposes the learner
to s

(1) stories for pleasure

(2) anecdotes for amusement

(3) simple facts

(4) complex facts

113. Summative assessment determines
(1) whether and to what degree the
students have learnt the content
they have been taught.

whether the content that has been
taught is relevant to the student or not.
whether the content that has been
taught is useful in day to day
situations or not.

whether the content that has been

taught is taken from the lesson or not.

John B.Watson and B.F.Skinner are the
originators of the

(1) structural approach

(2) grammar translation approach

(3) bilingual approach

(4) behaviourist approach

4

114.

11
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115.

116.

117.

118.

119.

120.

121.

Which of the following four statements
is right ?

(1) An approach and method are the
same in the teaching of English.

An approach is a technique to be
adopted by the teachers.

A teaching method is the technique
to be applied by the teachers.
Approach and strategy are the same
in the teaching of English.

A student is exposed entirely to the
target language in the

(1) structural method

(2) grammar translation method

(3) direct method

(4) bilingual method

In the Communicative Approach

(1) materials and activities are open-
ended and not predictable.

materials and activities are close-
ended and predictable.

materials and  activities  are
prescribed in the textbook and have
to be fol'owed.

material and activitics are optional
and need not necessarily be followed.

(4)

Project method was introduced by

(1) Kilpatrick (2) Pestalozzi

(3) Comenius (4) Skinner
According to Piaget, a 1* standard
student belongs to the stage of

(1) Sensory motor

(2) Pre-operational

(3) Concrete operational

(4) Abstract operational

Which of the following operations can
be taught easily with Napier rods ?

(1) Addition (2) Subtraction

(3) Division (4) Multiplication
Which one of the following is a properly
written objective/specification ?

(1) To explain the derivation
formula for area of a square
The pupil recalls

The pupil generalizes that the sum
of the interior angles of a triangle is
two (2) right angles

To demonstrate the properties of a
parallelogram

of

(4)
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The tool/technique used to determine the
relationships  existing among  the
members of a group in a given situation is
(1) Sociometry

(2) Anecdotal record

(3) Interview

(4) Written examination

Who defined Mathematics
‘meaningless formal game’ ?

(1) Aristotle (2) Descartes
(3) Félix Klein (4) David Hilbert

Syntactic structure related to
(1) methods (2) processes
(3) laws (4) attitudes

Which of the following could be
understood ~ with  the help of
interpretation ?

(1) Science values

(2) Science goals

(3) Science nature

(4) Science objectives

as a

Match the following Scientists and

their contribution :
Scientists Contribution

A. Alexander 1. Found the new
Fleming way of measuring

space and time

B. Sir Isaac 2. Penicillin
Newton

C. Einstein 3. Aerodynamics

D. A.P.J. Abdul 4. Sundial
Kalam

Choose the correct answer

(1) A-4, B-3. C-2, D-1

(2) A-3, B-1, C-2,.D-4

(3) A-1, B-2, C-4,D-3

(4) A-2, B4, C-1,D-3

Which one of the following is used as
Notice Board ?

(1) Peg Board (2) Bulletin Board
(3) Black Board (4) Flannel Board

Students separating given metals and
non-metals is an example of which
activity ?

(1) Whole class activity

(2) Group activity

(3) Individual activity

(4) Pair activity
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132.
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Which of the following is a wrong pair ?

(1) Examination - Process

(2) Evaluation = Value
Jjudgement

(3) Test -  Measurement

(4) Assessment - Homework -

Consider the following statements:

A. Socialised Recitation  method
develops reflective thinking and
desirable social attitudes among
students.

B. Source method develops the sense

of objectivity among students.

Lecture method is the

procedure of teaching

studies.

Which of the above statements are

correct ?

(1) A.Band C

(3) Band C only

latest
social

(2) AandC only
(4) A and B only

. Consider the following statements:

A. Graph is a three dimensional

picture which employs dots, lines

or picture to visualise numerical

and statistical data to show

. statistics or relationships.

B. Circle graph is a circle, the
selections of which are used to
represent component parts of a

whole.
C. Geneology chart is used to
represent  the  growth  and

development of an empire, a
dynasty and historical facts in
nature.
Which of the above statements are
correct ?
(1) AandBonly (2) BandC only
(3) AandConly (4) A,BandC

This Maxim is suitable to organise
‘Mock gramasabha’ by a social studies

teacher to make the students understand .

the roles of a sarpanch, ward members
and village secretary

(1) Indefinite to definite
(2) Known to unknown
{3) Concrete to abstract
(4) Particular to general

13
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135.

Consider the following statements:

A. The purpose of Essay type Tests in
to test the students’ abilities, to
interpret  data, organise  and
summarise ideas, apply principles.
describe event, persons and place,
think creatively and critically.

B. The main purpose of short type
tests is to test a large amount of
knowledge, abilities and
understandings within a short time.

C. A thorough and precise exploration
of the mind of each child is the main
purpose of objective type tests.

Which of the above statements are

correct ?
(1) A,Band C
(3) Band C only

(2) A and B only
(4) A and C only

Identify the correct pairs of the
following :
A. Drama- Primarily a living

experience

B. Television - The black board
dramatised, the
picture brought to
life

C. Tableau - isan acted play with
words

Choose the correct option:

(1) Aand Bonly (2) Bonly

(3) A only (4) Conly

Consider the following statements :

A. National Integration aims at

unifying the people and making
them conform to one pattern and
uniformity in thought and action.

B. National Integration means bringing
out economic, social and cultural
differences prevailing among people
within tolerable range.

It is a universally admitted fact that
unity is the pre-condition of
Nationhood.

Which of the above ’ statements are
correct ?

(1) A and B only
(3) A and C only

(2) Band C only
(4) A.BandC
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. Consider

. What 1s

Consider the pairs of Geographical
India :
State Gl
A. West Bengal - Gobhindobhog
rice -
B. Andhra - Banginapalli
Pradesh mango
C. Assam — Nilambur teak
D. Kerala — Mugasilk

Choose the correct option/pairs :
(1) Band Conly (2) A and B only
(3) A.BandConly (4) A.B,Cand D

the following statements

regarding tumri music :

A. Itoriginated in Madhya Pradesh.

B. It does not involve any element of
dance.

Which of the above statements is/are

correct ?

(1) A only (2) Bonly

(3) Both Aand B (4) Neither A nor B

Nirbhay missile is a

(1) Sub - sonic cruise missile

(2) Hyper sonic cruise missile
(3) Super sonic cruise missile
(4) Advanced air defence missile

the theme of the 13th
Formation Day of the National Disaster
Management Authority (NDMA) ?

(1) Safe India

(2) School Safety

(3) Reduce risk factor by support

(4) Wake for support

India’s first-ever Industrial Training
Institute for the Divyangans will come
up in which state ?
(1) Mizoram

(3) Uttar Pradesh
Who is the

What | Do™ ?
(1) Duvvuri Subbarao
(2) Raghuram Rajan

(3) Manmohan Singh
(4) Venugopal Reddy

The Constitution bench of Supreme
Court has declared right to privacy as
Fundamental Right under Constitution.
With how many judges the bench was
constituted ?
(1) Three

(3) Seven

(2) Assam
(4) Kerala

author of the book “1 Do

(2) Five
(4) Nine
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Lord Narasimha temple is located in
which of" the following places of
Telangana ?

(1) Vemulawada (2) Yadagirigutta
(3) Basara (4) Kolanupaka

Which town in Telangana is called
*Coal Town of South India™ ?

(1) Ramagundam (2) Bellampalle
(3) Kothagudem (4) Adilabad

Vattikota Alwarswamy is famous in the
field of ?

(1) Music
(3) Literature

(2) Sports
(4) Politics

Nirmal crafts are made by using which
of the following wood ?

(1) Teak Chekka

(2) Tumma Chekka

(3) Vepa Chekka

(4) Ponki Chekka

Telangana government  established

TASK to impart skill-development to

the graduates in the state. Expand

TASK

(1) Telangana Academy for Skill and
Knowledge

(2) Talent Academy for Skill and
Knowledge

(3) Telangana Arts, Science and
Knowledge

(4) Training and Skilling in
Knowledge

Telangana state government is planning
to launch the IoT policy soon. Expand
loT

(1) Interest of Technology

(2) Internet of Things

(3) Internet of Telangana

(4) Internet of Technology

Who was the Chairman of the first
Indian Education Commission ?

(1) B.L. Rice.

(2) Lord Macaulay.

(3) William Hunter.

(4) Dr. Miller

The first Educational Conference of
India was held in September 1901 at

(1) Calcutta (2) Shimla

(3) Bombay (4) Lahore
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The following battalion celebrated its
250 years of its existence recently

(1) Sikh Infantry Battalion
(2) Mahar Regiment.
(3) Maratha Light Infantry
(4) Gorkha Battalion

. To sensitise the people and students in

particular, the Union Ministry of
Environment has  launched the
following programme

(1) Green Corps Campaign

(2) Green Good Deeds Campaign
(3) Paryavaran Abhiyan Programme
(4) Swatch Paryavaran Mission

. The book written by Prime Minister,

Narendra Modi, “Exam Warriors™ has
been released by

(1) Harsh Vardhan & Maneka Gandhi
(2) Sumitra Mahajan

(3) Prakash Javdekar & Sushma
Swaraj

(4) Ramnath Kovind, President of
India

. India has contributed $ | million in

February 2018 for the UN Development
Partnership Fund earmarked for

(1) North-South Cooperation
(2) South-South Cooperation
(3) United National Children’s Fund

(4) Least Developed Countries
Africa

of

The following foreign Air Chiefs visited
India and flew Made in India Light
Combat Air Craft “Tejas™ in the first
week of February, 2018

A. Chief of Staff of the US Air Force.

B. Chief of Staff of the Israeli Air
Force.

C. Commander in Chief of Russian
Air Force.

D. Chief of Staff of the French Air
Force.

Select the correct answer :
(1) Aand Bonly (2) B and C only
(3) Aand Donly (4) A,Cand D only
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. DPEP was initiated in Karimnagar and

Warangal in the first phase, in

Telangana region for this reason:

(1) Because the World Bank has come
forward to fund the project.

(2) Because there are more number of
Primary schools in these two
districts.

(3) Because female literacy in these
districts is low.

(4) A few NGO had come forward to
liberally fund the project.

Upper Primary was brought under the
scope/purview of OBB in this year:

(1) 1992 (2) 1986
(3) 1977 (4) 1990
SSA is a programme initiated for

children of this age group

(1) 15 years and above

(2) 6 - 14 years boys

(3) 6- 14 years girls

(4) 6 - 14 years boys and girls

. Examine the following related to the

provisions of OBB scheme :

A. Mini tool kit

B. A black board, a chair, a table and a
bell

C. Provision of 2™ teacher for single
school teachers, preferably a female
teacher

D. Upgradation of TTls as DIETs

E. Education of comparable quality

upto a specific stage to the school
age population irrespective of caste,
religion, region and gender

Choose the correct option :

(1) DandE only

(2) A,Band C only

(3) Cand D only

(4) A and B only

Workshops and Trainings for teachers
are conducted to

(1) realise the objectives
respective schemes
(2)

improve teacher’s qualifications
(3) enable teachers to get promotion
(4) empowerment of teachers

of the
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